UARF s —

| REST NUTS  No.E-9300S

SCM420 BEAHRC56+3
2

oA
|
T
T
C
=

Wik g R = * BELEESR
+—5'—No. No. DB A  BEgs C : E . HEEg i
%939229 | 11304-110005 | M 8x1.25 18 15 14 9 25 6,950
% 939230 | 11304-21000S | M12x1.75 22 20 19 12 43 7,250
% 939231 | 11304-211005 | M12x1.75 36 30 27 22 210 7,600
% 939232 | 11304-310005 | M16x2 28 24 24 16 80 12,200
% 939233 | 11304-311005 | M16x2 56 34 46 22 600 12,800

: § B 4 €
P = Sess
|\:° =
% D
‘L iR g xR * [EEIEER
+—5'—No. No. D@E) A B C : E . HEEg {ili
% 939234 | 11304-120005 | M 8%1.25 18 15 14 9 25 7,450
% 939235 | 11304-220005 | M12x1.75 22 20 19 12 43 7,750
% 939236 | 11304-320005 | M16X2 28 24 24 16 75 12,200

Wik g = * (RS
+—5'—No. No. DB A  BRs C : E . HEEg i
% 939237 | 11304-130005 | M 8%1.25 18 15 14 9 20 6,950
% 939238 | 11304-23000S | M12x1.75 22 20 19 12 40 7,250
% 939239 | 11304-330005 | M16X2 28 24 24 16 60 12,400
WERsI

[_m

%

SINCE 1560

824 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ (xa\ NABEYA co., L.

FriendsNo.219/2022. 1 1{EkR

1,




